
NAPLAN 2013 paper test answers

Year 9 Reading Numeracy

Calculator 

allowed

Numeracy

Non-

calculator

Language 

Conventions

1 d e d straight

2 c d c ordinary

3 2,4,5,3,1 a e urban

4 d c d catchment

5 b d c

accomplishme

nt

6 c c b circuit

7 a  c c monitor

8 b c b structural

9 d d b canyon

10 c c c deafening

11 c c c practically

12 b b b campaign

13 d b d nurture

14 d c a jeopardy

15 b d a incorporated

16 d b c acquired

17 c a b garbage

18 a b a classify

19 a a 9 weird

20 a b 15 southern

21 c b d deforestation

22 a 7500 28 considerable

23 d d 120 fulfilling

24 c 60 42 schedule

25 a 2.8 20 gourmet

26 b a a enzymes

27 b 54 d permanently

28 c c 360 exhilaration

29 a 8 a vacuum

30 a 36 6 dilemma

31 c 7 12 a
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32 b 150 104 a

33 c d

34 d c

35 b c

36 a a

37 a d

38 d c

39 b c

40 c b

41 c c

42 a c

43 b a

44 d a

45 b b

46

*see note 

below c

47 a a

48 c b

49 b c

50 c

51 d

52 d

53 d

54 b

55 c

56 a

57 b

58 a

*Q46 Response makes a connection between the sense of decay in the descriptions 

of the place (setting) and the man's decline.


